A & 0l & AFE B Al A

20249 =04 Leke | SXIKI3

M SXXAL
M HMP2AZH(SXXAD)

chel: Jl2Ad| (CHl: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
SXX2 94,259,329 90,870,405 3,388,924
= 55,043,003
= 2,684,542
| 1,247,055
== 7,363,694
s 50,000
= 27,871,035
HAE2HAY|(SKIXIS 1) 27,600 25,600 2,000
Jl=&l 27,600 25,600 2,000
Jl2&l 27,600 25,600 2,000
201 22| 18,960 16,960 2,000
01 AtR2teld 14,960 14,960 0
Oget==2H| 14,960
0JI2ANRES 100,000& 199! 1,900
OAIRD1D] & SAIES 7,000,000 7,000
0J|Et==2H| 1,500,000 1,500
OSH(SXXAL LREX)
8,000& *1921x304! 4,560
02 2=222H| 4,000 2,000 2,000
OoRERI = 4,000,000 4,000
202 o4t 8,640 8,640 0
01 =LY 8,640 8,640
OoZeloibl(SS0il)
180,000 x4 S+ 122 8,640
XX 2H(SAIXIAD) 6,600 6,600 0
ENER2H 6,600 6,600 0
ol A A 6,600 6,600 0
203 LRF&| 6,600 6,600 0
03 Al HFERHRFEIH| 3,000 3,000 0
OSXESF AIHFA 3,000,000 3,000
04 EN2ILRFEI 3,600 3,600 0
ORNSZHRFEH| 300,000 %12 3,600
SXXH Jetx 16,475,232 19,870,474 A3,395,242
= 9,047,268
== 1,634,704
o 5,793,260
Z0HR S MEOrEXIR 2,888,255 2,833,703 54,552
= 1,805,046
= 288,455
= 794,754
Z0eI=X =2 15,200 15,200
201 22| 3,200 3,200 0
01 At22teld| 3,200 3,200
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2A: SXXA2 0

HH: =SRXY JIPRS
Rl HOHol S HEOIEAIA (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SEEENREREEESS)
8,000 *52!1x804 3,200
202 Ot 12,000 12,000 0
01 SUHOHI 12,000 12,000
SLNEIEVIEEESS
200,000 %5Q!x12& 12,000
AMEBISIA R QARSI ML 282,000 246,000 36,000
301 LEEES 282,000 246,000 36,000
14 J|Et2 8= 282,000 246,000 36,000
OASI=XIAH € EDIRARE ML 282,000
OALZISXIAIEZ (Z0HR!, M, Ot S)
50,000&1102!x12& 66,000
OABISTIAIZ () & &I
50,0002 %360¢1x 122 216,000
goielgis s X2 2,113,575 2,063,353 50,222
= 1,479,502
= 190,222
o 443,851
301 Et2AS 2,113,575 2,063,353 50,222
= 1,479,502
< 190,222
o 443,851
01 ARRIEZE4FS (R NEXTHR) 2,113,575 2,063,353 50,222
Ozofel=2 2.113,575,000& 2,113,575
= 1,479,502
< 190,222
[ 443,851
== (0Ix) X2 245,725 259,983 A14,258
= 172,008
< 51,602
i 22,115
301 LBtE2NS 245,725 259,983 A14,258
= 172,008
< 51,602
i 22,115
01 AFRI2ZE4FS (R EXTHR) 245,725 259,983 A14,258
OMA, g2 +=STHAIE, HOHE =S
245,725,000 245,725
= 172,008
= 51,602
[ 22,115
(Xt S) XS 156,212 162,780 26,568
= 109,348
= 32,805
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2AM:

S XX

. SR RS
el Fojel S MEHETIR CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 14,059
301 LEEXS 156,212 162,780 6,568
= 109,348
= 32,805
= 14,059
NREEEEES I ENCEEY 156,212 162,780 6,568
OFONSLH (I, DS, THAH2]) /R OJOLE S
I, KAL) AIE) 156,212,000 156,212
= 109,348
= 32,805
= 14,059
T ES=TEE)) 17,567 17,567 0
= 5,270
= 12,297
301 LEEXS 17,567 17,567 0
= 5,270
= 12,297
02 NEIRERLH2(F OIS, NZ) 17,567 17,567 0
OFOB=SHRHQINZ L M3 2B20 =
= =0 THIOtERe!) 17,567,000 17,567
= 5,270
= 12,297
S EETSNE 53,200 64,244 11,044
= 42,560
= 7,448
= 3,192
403 XIXISHISA=0[H 53,200 64,244 11,044
=2 42,560
= 7,448
= 3,192
02 20 2SO E =SS A 53,200 64,244 AT1,044
OFoelel=dl XA 53,200,0002! 53,200
=2 42,560
= 7,448
= 3,192
HASEOfOl TEA Z2H] 2 ZAH] X2 1,576 1,576 0
=2 788
= 788
301 LErEA2 1,576 1,576 0
=2 788
= 788
NREEEEES EIEREESE) 1,576 1,576 0
OMASHOO! ZEN L3 L AKX X
2 1,576,0002 1,576
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2AM:
X XH -
o /e

(=Sak

CyEn
SN Jea=s
EOHOIAIG SR

2A BB O9(3) - MPAY -

4]

Ol

AloH

— T

dEE
Ofl &b oK

HJ

1,035,985

oW

116,990
81,893
10,529
24,568

92,671

24,319

308 AXIEHISOIE

TR AR

116,990
81,893
10,529
24,568

92,671

24,319

116,990, 000&

TR AR

116,990

116,990
81,893
10,529
24,568

92,671

24,319

M H

180, 120
54,036
126,084

12,711

67,409

M H

180,120
54,036
126,084

12,711

67,409

180, 120,000

M

180,120

180, 120
54,036
126,084

12,711

67,409

ASTHEMLIA AR

TR AR

91,200
63,840
13,680
13,680

84,000

7,200

308 AXIEHISOIE

HH W

91,200
63,840
13,680
13,680

84,000

7,200

91,200,000

HH

91,200
91,200
63,840
13,680
13,680

84,000

7,200

ST FAREAUIAX

HHH

435,739
305,017
65,361
65,361

349,295
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SN =SXXED
BR: 2NN RS
Pl DOHQIMEIE ST (ciol- M2))

L=
EE Ol &k E HImE=2t

S - M. (FH) - MIEAY - Eh Ol &nboH

5]

308 AHXIEHISOIE 435,739 349,295 86,444
305,017
65,361
65,361

Mo W

13 2O 2SS AT A A 435,739 349.2% 86,444
UTOHQl FABSAHIA B

435,739,0002 435,739
305,017
65,361
65,361

Mo W

ZES 22 =2 JEE11XA 39,833 0 39,833
27,883
3,585
8,365

Mo W

o
>
on

t

al

308 KHXIEHHI

ball

ol 39,833 0 39,833
27,883
3,585
8,365

Mo W

SIEFAI I 39,833 0 39,833

39,833,000 39,833
27,883
3,585
8,365

MW

SEsAdlA XIJ 103,607 77,434 26,173
72,525
15,541
15,541

MW

308 MAIHHSOIA 103,607 77,434 26,173
72,525
15,541
15,541

H H W

S]] 103,607 77,434 26,173
flS8sAMEIA XI”

103,607, 000& 103,607
72,525
15,541
15,541

HH W

SSHOHUMICH Atell2tel X1 45,000 45,000 0
13,500
31,500

M H

307 212t01& 45,000 45,000 0
13,500
31,500

M H
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2AM:

S XX

Hu: =2X XY JPRE
CHol: EOOIAISIBIE X (crel: iz
SA B E(BH) - HRAY - BES Gl HIDS2
TEEINEEES 45,000 45,000 0
OSZHONQIMIH A2l X
45,000,000 45,000
[ 13,500
@ 31,500
HAHS JIsaEus 2,000 2,000 0
=S 1,000
@ 1,000
307 QI2F0/A 2,000 2,000 0
[ 1,000
- 1,000
11 ABIS XA B X 2,000 2,000 0
OUAZHR JISE=EDS
2,000,000 2,000
[ 1,000
@ 1,000
AZEORS JIZHE DS 5,000 5,000 0
=S 2,500
@ 2,500
307 2120/ A 5,000 5,000 0
[ 2,500
- 2,500
TEEINEEES 5,000 5,000 0
OAIZEEOHQ! DT
5,000,000 5,000
[ 2,500
- 2,500
T EHA EEI)[2F SEAIY 8,000 8,000 0
=S 2,400
@ 5,600
307 120/ A 8,000 8,000 0
=S 2,400
- 5,600
11 ABIS XA EX 8,000 8,000 0
OZHONEHA BHat)| 2+ o
1,000,000 #4582 *23] 8,000
[ 2,400
- 5,600
ORI SHIKI 105,200 104,250 950
301 LEE A 13,950 15,450 1,500
TETEE] 13,950 15,450 1,500
OS0II 835 AERXI3] ZEs0l S
sl 50,0002 %259 1,250
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2A:

S XX

Ha: 2SXKY A=
CH9: ROHOIAISIB S XIS (chel: x421)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OIS E P RG] A2 S0 =2l
3 50,00024100! 500
Os0HI8 3| AR R XIE] Hes0teltl3]
50,0002 %2821 1,400
Os0IEBI AR PR3] M2=00122I04
gl 50,0002%350! 1,750
OAIZEZ I B 3| AR 2 XI5 EIXIZH0loY
AL 50,0002 *369! 1,800
OXIHZOHIE S| AP XIE] ZOfRIESA
SAEHAL EA 50,0004%3591 1,750
OXIHZORQI B S| ARZXIZ]) ZOfRIIISE
I3 & 50,0002 * 100! 500
OXIHZ NI B S AP XIS] M= XIHIZHOH
olM=Us &4 50,000 *30¢Q! 1,500
OXIHZ NI B S AR P XIS 2 XIHIZHO
ol sotstsl &4 50,0002 409! 2,000
OXIHZOHQI B3| MEZXIE] MS2HIE 0K
olIfAsZlg &A 50,0002%309! 1,500
307 QIZHOIE 91,250 88.800 2,450
R RIS 46,500 45,500 1,000
OZLXIHMROI S AE2XIE 2
43,000,0002 43,000
OJLAIRZ RIS M E 2R 8 2
2,000,000& 2,000
OB sORIEs|IMEZR 2
800,0002! 800
OBLAIZLROfIEE AEZXIE 2
700,0002! 700
1 AFBIE XA B X 44,750 43,300 1,450
OZtO§oIoIL I E AL
30,0002*1,0009! 30,000
OB HEORQI B3| A XIE] ZOHOI=
NESSINE 9,000,000 9,000
OZLHAILROfIE S MM IS Zofol=
INESSINE 3,750,000& 3,750
OB SO MR ZOHI=XNE
ZIAL 2,000,00084 2,000
I EENE 10,000 10,000
307 eItol™ 10,000 10,000 0
04 QIZFSHAIAIRIE 10,000 10,000 0
OZALE ZOHIZ2D|HE HEE S
10,0002*1,0009! 10,000
REESESS 20,290 21,400 A1,110
= 1,212
[ 886
= 18,192
ZHOHOIH O S RIAIS 2 14,160 14,160 0
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2A: SXXA2 0
2z SXAA D185

ol ZojelEesal (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
201 e ] 14,160 14,160
01 AFR22lH] 12,250 12,250
OFOHINSIEX 20 S
1,300 *5000H 650
OHYU=TAY S22 HME S
1,000 *5000H 500
OIS a2 23 2,50021%20001* 122 6,000
OZOHIADNS W= 1,500,00021%13] 1,500
ORNESKY +SXAAOIYRE| Ba
e 100,000&4*621%63] 3,600
02 2229 1,910 1,910 0
OFjeI=SRIIE SIS
3,8202%50024 1,910
S RIEESIPIINE 1,515 2,240 AT25
2 1,212
2 303
301 YBHEFZ 1,515 2,240 AT25
2 1,212
2 303
01 A2 Z(2DEZTN) 1,515 2,240 AT25
OROHQERI|I| WRA
1,515,000 1,515
2 1,212
2 303
ZOHQIEZXIID| Y BOjLH| X 2,215 2,600 N385
= 886
2 1,329
301 YBHEFZ 2,215 2,600 2385
= 886
2 1,329
02 Al 2RSS (HUAHS, XILA) 2,215 2,600 2385
OFOHQISEII| L BOLH| KIRAMY
2,215,0002! 2,215
== 886
2 1,329
ZHoHel ROl S X0 42 X 2,400 2,400 0
301 YBrEEZ 2,400 2,400 0
02 ABI 2R S(HUAAHS, XILTHA) 2,400 2,400
OF0He!l R0l S 21D 22| X
200,00024% 120! 2,400
ZOhQIU I E 751,665 702,218 49,447
2 356,788
= 118,463
2 276,414
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2A: SXXA2 0
2z SXAA D185

ol oI EE CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ZORQILRI2IXI R (LB U Rtel) 295,716 317,178 A21,462

2 147,858
== 44,357
2 108,501
101 Q12| 293,716 314,978 121,262
2 146,858
== 44,057
2 102,801
04 JIRM22XSES 293,716 314,978 121,262
OFO0HQ et A2 293,716
0olz= 2,060,7402%1001%12% 247,289
2 123,644
== 37,004
2 86,551
0201012 247 ,288,8002 4. 5% 11,128
2 5,564
== 1,669
2 3,8%
e st p s 247,288,80021%3.545% 8,767
2 4,383
== 1,315
2 3,069
e SEEs 8,766,39021%12.81% 1,123
2 562
== 168
2 393
L= 247,288,8002*1.75% 4,328
2 2,164
== 649
2 1,515
OtEEE 247,288,800 1% 2,473
2 1,237
== 371
2 865
(2= A2 18,608,0002! 18,608
2 9,304
= 2,791
2 6,513
201 LBr2 Y| 2,000 2,200 A200
2 1,000
= 300
2 700
01 Al 22| 2,000 2,200 A200
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2AM:

.

SXXAD
S NEBIE=E

CHel: XOHQIURICIRE (Crof: M2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OZ OOl LBFHURICIAIY 2Y
2,000,0002 2,000
= 1,000
[ 300
= 700
ZHOHOI L XF2] IR (AIZHMIZ Xi2l) 103,524 129,784 126,260
= 51,762
[ 15,529
z 36,233
101 Q14| 102,824 128,884 26,060
= 51,412
[ 15,424
= 35,988
04 2RISR 102,824 128,884 26,060
OZHOHQ! AIERIZ Rt2 102,824
0oz 1,030,370 7Q1x 122 86,552
= 43,276
[ 12,983
= 30,293
0=01013 86,551,080 %4 .5% 3,8%
= 1,947
[ 585
= 1,363
0HLEE= 86,551,08024%3. 545% 3,069
= 1,534
[ 460
= 1,075
0FINLLZEZ 3,068,2402%12.81% 3%
= 197
[ 59
= 138
0EEE= 86,551,080 1.75% 1,515
= 758
[ 227
= 530
OMMEE= 86,551,080 1% 866
= 433
[ 130
= 303
02EHA=E 6,533,000 6,533
= 3,267
[ 980
= 2,286

[
o
X




¢ SXAA D
D SXNAE J1BE
L SOl NI HE

S B SRI(BH) - HRAY - BAS

PIE]=>
e

201 LBt2 3|

Mo W

700
350
105
245

900

01 AtR-2teld
OZOHR! AIFMIZXIEIANE 29

700,000&

Mo W

700

700
350
105
245

900

2200

ZoHeIL X2l X (S XL Rel)

Mo W

221,136
110,568
33,170
77,398

168,724

52,412

307 212t01&

Mo W

221,136
110,568
33,170
77,398

168,724

52,412

11 AlRISXIAMEE X

Ol SXZ At

221,136,000

Mo W

221,136
221,136
110,568
33,170
77,398

168,724

52,412

ZOHIL TR KB (LEHHURLAESAE

EXCIpVELD

H H W

93,200
46,600
13,980
32,620

73,004

20,196

307 212t0l&

HH W

93,200
46,600
13,980
32,620

73,004

20,196

93,200,000

H H W

93,200

93,200
46,600
13,980
32,620

73,004

20,196

M H

17,029
5,109
11,920

17,029

307 212t01&

M H

17,029
5,109
11,920

17,029
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2A:
PSP R
S

SXIX& 1
SAXE Jle

o=
Sl neiEE

S LRE-ER

SHRASA) - MIRAIY - BES

dEE
Ofl &b oK

11 AMBISAIAMEE X

17,029,000&

MmN

17,029

17,029
5,109
11,920

17,029

M H

21,060
6,318
14,742

21,060

307 212t01&

Mo

21,060
6,318
14,742

21,060

21,060,000

Mo

21,060
21,060

6,318
14,742

21,060

H H W

6,739,068
2,879,778

600,774
3,258,516

10,902,491

A4,163,423

HH W

4,100,193
2,870,135
369,017
861,041

3,839,887

260,306

307 212+0|&

Mo W

4,100,193
2,870,135
369,017
861,041

3,839,887

260,306

10 AFRISAAEEE2EHIEX

OZOHIAHFAIE 2SI

4,100, 193,000

Mo W

4,100,193

4,100,193
2,870,135
369,017
861,041

3,839,887

260,306

ZOHIAHFAIE KR OR2E

Mo

11,376
3,413
7,963

12,775

A1,399

307 212t0|&

Mo

11,376
3,413
7,963

12,775

21,399

10 AFRISXIAEEER2S

a]
OHOHAFAIE ORU2RA

=

2eiag

11,376,000

M H

11,376

11,376
3,413
7,963

12,775

21,399

a3




2AM:

.

S XX
SXX JIgR=

Pl DOHQIS ALK (cio: x5
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
ZOCIA=AIE SIIEFD| &g XA 1,488 2,770 A1,282

= 893
& 178
i 417
307 212to1™ 1,488 2,770 A1,282
= 893
& 178
i 417
11 AR SXAIEE L 1,488 2,770 A1,282
OZMAUHFAE SIHE)| dEg S
1,488,000& 1,488
= 893
& 178
i 417
ZOHQIAIE SAK==E 211,269 215,800 A4,531
= 63,381
i 147,888
307 212t01 & 211,269 215,800 24,531
= 63,381
i 147,888
10 AFRISXAEHE2IHIEE 211,269 215,800 24,531
OZHLIHFAIE, NSASITHEANE S 3
AFRIZ=Ef 211,269,0002! 211,269
& 63,381
i 147,888
HOHCI RS THEAIA 230,000 224,737 5,263
& 7,720
i 222,280
307 212t01™ 230,000 224,737 5,263
= 7,720
i 222,280
10 ALSIS XA EHE2IHIE X 230,000 224,737 5,263
OZOHAEATEAIL 2|
230,000, 000& 230,000
& 7,720
= 222,280
MO ATHEAIE SAIK =& 7,800 7,800 0
& 2,340
i 5,460
307 212t01™ 7,800 7,800 0
= 2,340
i 5,460
10 ALSIZ XA EHE2IHIE X 7,800 7,800 0
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A SXXD
Hu: =XR RS

Pl DOHQIS ALK (cio: x5
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ORI MENE EAD
7,800,000 7,800
& 2,340
i 5,460
SHIESA2 28 A2 1,560,000 1,560,000 0
= 42,000
i 1,518,000
307 212t01 ™ 1,560,000 1,560,000 0
& 42,000
i 1,518,000
10 AlRIS XA EEE2EH 2 X 1,560,000 1,560,000 0
OLIZ=TIZH(=22 2 23) 29|
1,560,000, 000& 1,560,000
& 42,000
i 1,518,000
ZOHRIS X2 SALA=E 80,600 80,600 0
= 24,180
i 56,420
307 2I2t01 80,600 80,600 0
= 24,180
i 56,420
10 ASISAANEHE2EEIEX 80,600 80,600 0
OZHI=X2t SAA+S
80,600,000& 80,600
& 24,180
i 56,420
OIS0l SXI R HE 117,000 117,000 0
= 6,120
i 110,880
307 2I2t01™ 117,000 117,000 0
= 6,120
i 110,880
0 AlRISXAEEE 22X 117,000 117,000 0
OttE= oM 0ISA2dE 28I
117,000,000& 117,000
& 6,120
i 110,880
F0SSHH 112,000 108,000 4,000
= 5,130
i 106,870
307 2I2t01 ™ 112,000 108,000 4,000
= 5,130
i 106,870
10 ASISAANEHE2EEIEX 112,000 108,000 4,000
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2AM:
X{XH -
o /e

cH):

S XX
SXX JIgR=
ZOHRISXIAIE XA

S B SRI(BH) - HRAY - BAS

PIE]=>
e

OUEZ+0SHEH 23|

112,000, 000&

MmN

112,000
5,130
106,870

M H

113,000
25,470
87,530

112,982

307 212t01&

Mo

113,000
25,470
87,530

112,982

113,000, 000&

Mo

113,000

113,000
25,470
87,530

112,982

M H

66,842
12,700
54,142

62,000

4,842

307 212t01&

M H

66,842
12,700
54,142

62,000

4,842

10 AlISXIAEEER2
e

OZgatE T E0Hel

23l 66,842,000

Mo

66,842

66,842
12,700
54,142

62,000

4,842

OIS XA HE

M H

110,000
33,000
77,000

106,000

4,000

307 212t01&

M H

110,000
33,000
77,000

106,000

4,000

110,000, 000&

Mo

110,000

110,000
33,000
77,000

106,000

4,000

HH W

17,500
8,750
6,125
2,625

17,500

402 SI2tXE01A

r
0

Mo

17,500
8,750
6,125

17,500
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A SXX2 20
2z SXAA D185

2l ZOHeIZXIAIERIA (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
=2 2.625
02 QIRIKHZAIS B E (O &KHE ) 17,500 0 17,500
ORI XATYSAIL = SXt2 D
17,500,000 17,500
2 8,750
[ 6,125
2 2,625
Lol =X =& 66,237,800 60,516,991 5,720,809
2 42,204,997
2 2,212,759
p] 137,857
< 3,626,284
= 50,000
2 18,005,903
COI=EX X 1,311,020 892,100 418,920
< 862
= 50,000
2 1,260,158
PRIESN == 292,400 284,300 8,100
201 Lere | 22,190 19,720 2,470
01 AlRZH2IH] 21,950 19,480 2,470
O0lHOlY & olojst maa &
20,0002 %2501 500
OLQI=2 2 0|0I2YM WA IS H
T2 860,000, 0002 * 1% 8,600
OL0I22 2 0|0I2 IIE L3HI2
3002*50024 150
OZ=2Y 2g9UE M 5,000 %4002 2,000
ORIQAI B KB AAIRIRS FHasg
100,000 #4021 123 4,800
OLQIREES LA AlO|5| AL
100,00024%3021%43] 1,200
OZH|(Lo1 =X R =
8,00021+501 %804l 3,200
OL Q3|2 ASOHEBIR| AR
125,0002 122 1,500
02 22| 240 240 0
OL QAL (BRI BRRZ U=
20,0002+ 122 240
202 04t 12,000 12,000
NIETCE 12,000 12,000 0
PRIEN=IEES-
200,00021+501% 122 12,000
301 LErEEZ 31,000 31,000 0
02 AFBIB ARG 2(FUHES, XLHS) 20,000 20,000
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2A:

S XX

M Lol =X =X
©Hel LoISIXE (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OoHolE &AL XI& 2.0002%10,0009! 20,000
11 AN 2 11,000 11,000 0
OLQIo| Y AL B4 (AL
50,0002 %4001 2,000
OLQIN0IESHS &A
50,00094+2001%53] 5,000
OLQIXIER QIEE EHA(C, 5Y)
50,0002%309! 1,500
OLQIXIEAt S5t Hlw A8
50,0002 %5001 2,500
307 2I2t0lA 224,410 199,930 24,480
03 DIZICHHH2HHIE X 107,560 96,080 11,480
O(A)THBH-QIB| A H 2R3 29
107,560,000 107,560
04 DIZFHAIAII B X 48,000 35,000 13,000
OLQlo] Y SHAl U AFH3
35,000,000 35,000
OAEZ4I| HOIESUE
13,000,000 13,000
11 AFBIZ XA E R 68,850 68,850 0
OUHEH RIS AP RIZ| AFY KR
17,500,000 17,500
OLQlst 2 42,000,0002! 42,000
OJ2Y3E 1 &4 X
110,00024%859! 9,350
405 RHAHEISH 2,800 2,800
01 AL 2EF SH 2,800 0 2,800
OLQIZRAI L (BETHA) WLt 7
2,800,000+ 1CH 2,800
OIS ALK 8,620 0 8,620
[ 862
= 7,758
307 2I2t0I A 8,620 0 8,620
[ 862
= 7,758
RRNEESNNEES 8,620 0 8,620
OL QWIS AIS XA 8,620,000 8,620
[ 862
= 7,758
ABIEHET 29 X2 50,000 50,000 0
307 pIZt0| A 50,000 50,000
11 AL 2 XA E X 50,000 50,000
OAHSEH 29 50,000,000 50,000
LolSE o WX 910,000 556,000 354,000
301 LA 860,000 516,000 344,000
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2AM:

F M

S XX
ol =X &

I

£l RIS (CHol: X 2)
SA - B - BRI(E) - MRAY - BaS e Gl HImS2
02 ABIEEEAGHS(FAAS, NLWH) 860,000 516,000 344,000
OMASLOl 00124 X
10,00024%1,50001%43] 60,000
OLoI==Y X
20,00024%10,000921%43] 800,000
307 2120l 50,000 40,000 10,000
11 AFBI= XA 50,000 40,000 10,000
ORzlgt 23 X2 50,000,0002 50,000
MET L0152 =AY ALY 50,000 0 50,000
= 50,000
401 A& HIL S 0HY] 50,000 0 50,000
E 50,000
01 Al&HI 50,000 0 50,000
OAEZ QI3 2 FHAH| Ab
50,000,000 50,000
E 50,000
ot X2 3,635,781 3,264,711 371,070
F; 2,208,463
7l 137,857
[ 338,948
= 950,513
LOIFEEEMHIAAL X 3,054,500 2,708,870 345,630
F; 2,138,150
[ 274,905
= 641,445
307 2I2t0| A 3,054,500 2,708,870 345,630
F; 2,138,150
[ 274,905
= 641,445
10 AIBIE XA EHESHHIE X 3,054,500 2,708,870 345,630
OLQUES2AHIAAY X
3,054,500,000 3,054,500
i 2,138,150
[ 274,905
= 641,445
LOIEESMHIA SAK NS, S4H XY A 114,240 0 114,240
[ 22,848
= 91,392
307 2I2tolA 114,240 0 114,240
[ 22,848
= 91,392
10 AIBIS XA EHAESAHIE X 114,240 0 114,240
LOIMEEEMHIA SAR 1S, SAlH
X2 Are 70,0002%13621x 122 114,240
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2AM:

S XX

MM Lol =X =
ch: MO Ol & (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 22,848
i 91,392
SENHLISTEMC! SSHELSAMHIA 2SXA 140,626 116,994 23,632
s 70,313
= 35,156
i 35,157
307 212t01& 140,626 116,994 23,632
s 70,313
= 35, 156
= 3, 157
REEINEEEEETEES 140,626 116,994 23,632
OSHH=0l ST STARLY HHlA
=29 X 140,626,000 140,626
s 70,313
& 35,156
i 35,157
ICTAHH IEXs SESSAY 149,557 167,319 A17,762
| 137,857
& 3,510
i 8,190
307 212t01™ 149,557 143,239 6,318
| 137,857
& 3,510
i 8,190
11 AR SXAISE L 149,557 143,239 6,318
OCAIATIAH &X € 2Y 149,557,000 149,557
| 137,857
= 3,510
i 8,190
HSSELQ AAHEHE ALY 148,428 148,428
301 Let2d= 148,428 148,428 0
02 ASIEEE2ES(FHLHS, NEMA) 148,428 148,428 0
OHSEEH L2 AAHEHE ALY
2,8503*18621x280 148,428
HAS HEA =2 2| X3 A 3,930 13,100 29,170
= 1,179
i 2,751
301 YPHENS 3,930 13,100 A9,170
= 1,179
i 2,751
02 MBIBEEGZ2(FILAHS, XLHA) 3,930 13,100 29,170
OMASHZA d=ae| 2| A
3,930,000& 3,930
& 1,179
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2AM:
PSE
o /e

Saak

S XX
Lol =X &8

THOF= QUK 2

S T SI(BH) - HIRAY

- HES

PIE]=>
e

HJ

2,751

LoIESEXRIIRAAS

—=

M H

24,500
1,350
23,150

29,000

24,500

Mo

24,500
1,350
23,150

29,000

24,500

24,500,000

MmN

24,500

24,500
1,350
23,150

29,000

24,500

Mo W

49,406,013
41,793,076
1,853,714
5,759,223

45,394,700

4,011,313

colgdiie]l & AtelEsKIE =

H H W

6,613,740
3,302,710

990,813
2,320,217

4,705,896

1,907,844

101 21244

HH W

226,715
109,966
32,991
83,758

294,090

267,375

=

03
O

(RIA) 22X 2=+

o XI
T
=22
(=]

&0

OXSIEHI(EEFIHI)

O
02
|
=
=
12
2li

O
Bl
Moo
0

0
S
oo

oo @

IS

=

on

i

e

o =
o
o i
e =
=
it
1l
@
=
e
Y
x

O
i
e
e
>
o

o]
2
>
0z
%
HT
oo
fu

2,270,2503x1Q1% 123

2,697,000&

311,000

170,000& 121« 12&

110,000& 122

270,000 #6421+ 11&

15,0003 +642!

Mo W

Mo W

MW

33,611
27,243
12,066
3,620
11,557
2,697
1,348
405
944
311
2,040
1,320
193,104

190,080
95,040
28,512
66,528

960

33,135

260,955

476

267,851
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2N SXIX
§§I i%ﬁgéézgﬂ (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 480
[ 144
= 336
L ol Xt =
OL-QIURte] 04Xt ISt  o0minsio ) oot
= 1,032
[ 310
= 722
201 L2 3,444 3,255 189
= 1,722
[ 516
= 1,206
01 AF2 22| 3,444 3,255 189
O HHAIY 29| 3,444,000 3,444
= 1,722
[ 516
= 1,206
202 0t 1,800 2,400 AB00
= 900
[ 270
= 630
01 =LH0IbI 1,800 2,400 AB00
O32& 0| 150,000 * 12 1,800
= 900
[ 270
= 630
304 AIZRE2S 6,801 6,515 286
= 2,632
[ 789
= 3,380
04 D2R(DI|HA) 22K EERREZ S 6,801 6,515 286
O=01013 32,007, 3002 4. 5% 1,441
= 649
[ 195
= 597
OHZEE= 32,007,30024%3.545% 1,135
= 504
[ 150
= 481
OFNRLEE= 1,135,0002%12.81% 146
= 62
[ 19
= 65

- 542 -




2AM:
PSE
o /e

(=Sak

S B SRI(BH) - HRAY - BAS

PIE]=>
e

ons=d

O
B
=
HL
0

32,007,300 *1.75%

Mo W

32,007,300 %1%

Mo W

3,168,000&

Mo W

29,000&

234
321
159
48
14
3,168
1,006
302
1,860
29

HoH W

6,374,980
3,187,490

956,247
2,231,243

4,398,346

1,976,634

,374,980,000&

HoH W

6,374,980

6,374,980
3,187,490

956,247
2,231,243

4,398,346

1,976,634

Mo W

42,767,073
38,490, 366

855,341
3,421,366

40,639,304

2,127,769

Mo W

42,767,073
38,490, 366

855,341
3,421,366

40,639,304

2,127,769

42,767,073,000&

MW

42,767,073
42,767,073
38,490, 366
855,341
3,421,366

40,639,304

2,127,769

COIEMICHAI R

M H

25,200
7,560
17,640

49,500

A24,300

Mo

25,200
7,560
17,640

49,500

24,300

25,200

49,500

A24,300
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Pl
2A - 33 - SRA(ZH) - HRAIY - BES Ofl &k oK IOﬂEOE“ Hlws2

OLIIEAMICH XA 90,000 %280 Al CH 25,200
7,560
17,640

Mo

LRIEXAIEXA 7,839,349 7,999,964 /160,615

4,296
1,245,788
6,589,265

HH A

I QIS XAIE 2L 3,116,833 3,100,654 16,179
311,684
2,805,149

MmN

301 LEIEES 3,116,833 3,100,654 16,179
311,684
2,805,149

M H

02 Atg I_‘?‘_’é“ﬁ.—’#—ﬁﬂ%(%_‘—l‘%tﬁlé, KILTHR) 3,116,833 3,100,654 16,179
A =]

916,207,000 1,916,207
191,621
1,724,586
OMIH== XAl A 1,200,626, 0002 1,200,626
120,063
1,080,563

Mo

MmN

LoIoE=XAE 2¢ 3,492,924 3,662,230 169,306
593,797
2,899,127

M H

301 LEEES 3,492,924 3,662,230 169,306
593,797
2,899,127

Mo

(FAAHS, NLTHH) 3,492,924 3,662,230 169,306

,442,308,000& 3,442,308
585,192
2,857,116

M I-ﬂ

OeloE=XAId 23|

50,616,000 50,616
8,605
42,011

M H

COISXAIE SAAKIE 871,000 871,000 0
261,300
609,700

Mo

307 212+0|& 871,000 871,000 0
261,300
609,700

MmN

IS}
=
ton
J

AAEHE2EHIEx 871,000 871,000 0
OLISXAIE SAK =& 871,000
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2AM:
X{XH -
o /e

cH):

SXXAD
Lol =X =&
LIS TN S X2

S B SRI(BH) - HRAY - BAS

PIE]=>
e

200,000& 33521122

Mo

100,000&*33521+23]

M H

804,000
241,200
562,800
67,000
20,100
46,900

Mo

330,000
66,000
264,000

330,000

307 212t0l&

Mo

330,000
66,000
264,000

330,000

10 ABISXIANEHE2EHI2X

OAlLIoIZE 29

330,000,000

M H

330,000
330,000

66,000
264,000

330,000

AIRAI |2 BN A ArY

Moo

8,592
4,296
3,007
1,289

8,592

402 2I2HXHE201

HH A

8,592
4,296
3,007
1,289

8,592

HSE(0IXTHA)
i

2t EDIAE X

At
8,592,000

HH A

8,592

8,592
4,296
3,007
1,289

8,592

FAILIO]

H™
e
1o

IXtel AFOHEH]

M H

20,000
10,000
10,000

20,000

307 212t01&

M H

20,000
10,000
10,000

20,000

11 AlRISXIAMEE X

OFAUON =ordXtel AFZEH

2| X3
20,000,000

Mo

20,000

20,000
10,000
10,000

20,000

H

3,482,962
411,921

2,483,519
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2AM:

.

ST XD
Lol =X| ZA

— =

ce: dZ 2l (cHol: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
[ 186,972
= 2,884,069
Z2Y AE L HES A 1,400,000 750,000 650,000
402 QI2FRF=0|H 1,400,000 750,000 650,000
01 QIZFRF2 A E R (XHRITHS) 1,400,000 750,000 650,000
OZ2Y A= L HELANY
1,400,000, 0002 1,400,000
EE=NPEETE] 9,950 16,950 80,000
201 L2 A 3,450 3,450 0
01 AFRZ2IHI 3,450 3,450 0
OZ2Y L013|7|, 2I| £ 7Y
10,00021%3457H A 3,450
401 Al&BIL 2 0HY] 13,500 13,500
01 Al&H] 13,500 13,500 0
OZ2Y &35 ®MI|&H|l oEEA
90,0002 %1507 A 13,500
405 KHAHE SH 80,000 0 80,000
01 AL SEF SH 80,000 80,000
OZ2Y AAHOIZ L Xt K
80,000,000 80,000
XS B RTINS 228,760 106,720 122,040
301 LBtEEa 144,000 25,200 118,800
02 ALBI 2 EE 2GS (FHAHS, KLY 12,600 25,200 A12,600
OEZAH=024l ZSMEDIH
30,000&1%35Q1x 128 12,600
14 J|EI2 A3 131,400 0 131,400
OLQIXAZAKIE E=H| X2
30,0002%3650!1+ 122 131,400
307 212+0|& 84,760 81,520 3,240
11 Al 2 XA E X 84,760 81,520 3,240
OPEY =3 Tz 22|kt tixl 2 34,600
0S| 200,000 %12 2,400
oelAt| 2,200,000 128 26,400
OARIEEZ 3,600,000 3,600
0EIR=ZZ 2,200,0002! 2,200
OZ2Y QY AR XI¥
22,0002 %1907 A+ 128 50, 160
g2y e 749,160 726,000 23,160
[ 63,396
= 685,764
307 2I2H0| & 727,160 690,000 37,160
[ 58,996
= 668, 164
OEENNEERE=TIEES 452,760 414,000 38,760
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2AM:

.

ST XD
Lol =X| ZA

— =

el ZzEatel CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OZ2Y 294 1
110,000 %343 A 122 452,760
[ 45,276
= 407,484
11 ALBIEXAIRIER 274,400 276,000 A1,600
OZ2Y D22 X2
800,00021%3437H A 274,400
[ 13,720
= 260,680
402 Q12+ RH=0|H 22,000 36,000 14,000
[ 4,400
= 17,600
02 QIZFRF2 A E R (0| M THS) 22,000 36,000 14,000
OZ2Y Wute| X2
2,000,0002* 1174 A 22,000
[ 4,400
= 17,600
A2 Wiey 2 243 XN 823,842 695,424 128,418
= 411,921
[ 123,576
= 288,345
307 212+0|& 823,842 695,424 128,418
= 411,921
[ 123,576
= 288,345
10 ALBIZE XA EHE2HHIE X 823,842 695,424 128,418
OZRY Wty & 22|
823,842,0002! 823,842
= 411,921
[ 123,576
= 288,345
22Y 29 X (XA 184,250 188,425 A4 1T5
307 212+0|& 58,950 49,125 9,825
06 £82 51,750 0 51,750
OZ2Y B8
150,0002 %3454 A 51,750
10 AIBISXAEHE2HHIE X 7,200 49,125 N4T,925
OZRY 29 X(XH2)
100,000 *2JH A* 122 2,400
OZ2Y H)| digz X
10,000 4074 Ax 122 4,800
402 QIZERF=0|H 125,300 125,300 0
01 BIZFRF2 AN R (RHRITHS) 125,300 125,300
OZ2Y =285 E=MZ 125,300,000 125,300
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¢ SXAA D

Lol =X &

: gE—E—iDH/&' (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
DR 562,675 481,997 80,678
SRS =Y 181,060 181,060 0
301 LBEXS 181,060 181,060 0
14 J|EI2 A3 181,060 181,060 0
OstazA=2 X2 181,060
03I EEAS(AlA) 352,0002*4309! 151,360
0 EHASOHNERB)
198,000 % 1509! 29,700
SorAAze| 29 181,615 100,937 80,678
101 Q1244 32,138 31,962 176
M IIR22IEES 32,138 31,962 176
OZ0tAIA 22| 30,938
0ol== 78,8802 %101%2612 20,588
0F=xt==< 78,880 101x502! 4,102
0=5E=2F+g 78,8802 1Q1x192%150% 2,249
0 Xt 78,880 101x112! 868
0=2%= 27,807,000 %4 5% 1,252
HZEE= 27,807 ,00024%3.545% 986
RIRYEE= 986,0002%12.81% 127
0UEZE= 27,807,000 %1.75% 487
M2 = 27,807,000 1% 219
OEI22x B4 100,000 %3014 1,200
201 LBt A 29,477 26,975 2,502
01 AF222IHI 11,627 11,570 57
OLts=2Y] 11,627
0IIEZHM =2 180,000, 00022 5% 4,500
AIRItESI)| AR
120,000 128 1,440
0F=D| AU2 33,90081% 122 407
OEHDIZS22 20,00094% 122 240
02H2E P 200,000/ 122 2,400
0BA SAIH] 200,000 %13 200
0R01ZH| =48 120,000 % 122 1,440
001l CCTV 2T 880,0002* 1 880
WEFR=sZ 10,000 122 120
02 222 17,850 15,405 2,445
O2222 < HMAl 11,140
(Fspli=r= 800,000 * 12 9,600
0SAIRB(HE IHY, TVRAR S)
90,0002 %122 1,080
A= ER3 30,000 %122 360
0& 3tk A 100,000 100
OAIAEZH| S 5,000,000 5,000
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2AM:

S XX

H: Lol =23 =X
el dRESPHH (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SEESIIEIWNEIE] 130,00024% 122 1,560
OsZI| A2 150,000 %13 150
401 A& HIL S 0HY] 120,000 20,000 100,000
01 Al&H| 120,000 20,000 100,000
ORLIX =8 £2 S SFHH|
50,000,0002! 50,000
O=g& U2 HulISAt 70,000,000 70,000
RN NN 200,000 200,000 0
401 A& B2 0HY] 200,000 200,000
01 Al&H| 200,000 200,000
OJIZ0I2 M& E=&2A
50,000,000 50,000
OFADIZ B2 =HIZA
100,000,000 100,000
OFADIZ OF2 HHIZA
50,000,000 50,000
oA 21 s 2,571,569 2,056,200 515,369
= 584,494
p) 782,126
[ 310,472
= 894,477
Ol LHZIIE R 2 2,367,619 1,775,573 592,046
= 584,494
p) 706,991
[ 274,431
= 801,703
OIAZTIAY K2 & 2 13,910 13,910 0
201 LBH2AH| 4,310 4,310
01 AlR2t2IH| 4,310 4,310
OGIA=TIAY E22 M
2,0002 %5000 13 1,000
O & . IIEEXIAL &40 HI=
50,0002 %501%33 750
OSEHI(0AE . IIELRER)
8,0002 *401+80A! 2,560
202 O4H| 9,600 9,600
NENE 9,600 9,600 0
OO &IIEHREE
200,000 %401 122 9,600
OIARAZSA U HET| 7,450 7,450 0
201 LB 3,250 3,250
01 AlR2:2IH| 3,250 3,250
OLSLBSIT2HHAL AlAL
150,0002 119! 1,650
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S SAX2

e =X 38
e LALIETRA

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OYHTSAVE S s ALY
100,00024%8021%13] 800
OYSTSAIY 222 MF S
2,0002%4007* 18] 800
301 YEHEAS 4,200 4,200 0
EEREE 4,200 4,200 0
OAXIC AN DS ZHA
300,0002%401x13] 1,200
OUSTST2 I GAL FA
50,0002 *1021%23] 1,000
OOIAICHH| AL BA
40,0002 %521 10IH EHA| 2,000
EE ENSNE 7,840 7,840 0
201 L2 A 7,840 7,840 0
01 AFR22IHI 7,840 7,840
ODNEAANSF| B
100,00024%3021%23 600
OZAM LS LA
600,000+ 101x43] 2,400
OHQIX|(HAEAEITIN) DR LAY
600,0002%101x23] 1,200
OZAML WS ANSSAIAE 2
3,640,0002x 13 3,640
USTHST AR 15,000 15,000 0
307 2I2H0| & 15,000 15,000
11 ALBIZ XA E X 15,000 15,000
O ESFT2HAKIZ 15,000,000 15,000
AU S A SHAN 10,000 10,000 0
201 L2 A 2,000 2,000 0
03 BAFS | 2,000 2,000
OAWIIHSH NS 4T
50,0002 *4001x 13 2,000
307 2I2H0| & 8,000 8,000
11 AIBIZ XA E R 8,000 8,000 0
OALIIHEHFIAIY X 8,000
0JIBALE 2001048 3,000,0002*13] 3,000
00iAAd2rAus AT
5,000,0002 13 5,000
SOH0H (A= 2ER 2,800 2,800
307 212+0|& 2,800 2,800 0
11 ALBI =2 XA E 2,800 2,800
O&OHOH. I =8 2EALY
2,800,000 2,800
OFSOA AN 2 3,500 3,500
307 2I2H0| & 3,500 3,500
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S SXIXE
33 o4 =X 88
©Helr (e A2ZIHE X (cHol: M)

L=
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O323 1=EuY| 100,000 & *43| 400
301 LBtEXSZ 5,700 5,700
11 BAFAHIXIRZ2 5,700 5,700 0
Ostl 8 AW 3A 29
250,00024%10%] 2,500
OSAMES Bat= 10,000 +1001%23] 200
OU&Esy XI& 10,000 1001% 10 1,000
Ostll 8 FAE Z272 NEH| XY
5,0002*4000! 2,000
304 HASRY2S 20,826 19,167 1,659
04 2RE(PI|HL) 22X LE2RY2 S 20,8% 19,167 1,659
O&78 =d=s 104,936,8202! %4 . 5% 4,723
OSF8 HLEE 106,747, 92024%3 . 545% 3,785
OZPA A)|QALE
3,785,0002%12.81% 485
Os78 1E2E 106,747,920 %1.75% 1,869
OS2 dHiEsE 106,747,920 %1% 1,068
OZR= gz
35,582,64024x301%1/12 8,89%
st g HAWE XR(2AX) 14,400 11,232 3,168
= 5,616
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2AM:

S XX

Ol HAE AW 4
Helr 34l =X 2 25 (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
i 8,784
301 Et2AS 14,400 1,232 3,168
= 5,616
i 8,784
11 EAHIXES 14,400 1,232 3,168
Ot 9 HAUE SAK
8,000 1,8002! 14,400
= 5,616
[ 8,784
FAENERE 8 2,400 2,400 0
& 720
i 1,680
301 LBtE2NS 2,400 2,400 0
= 720
i 1,680
11 EAHIXES 2,400 2,400 0
OHAWE NS S|
600,000 44 ESH 2,400
& 720
i 1,680
FaEFoleE A0 24 500 500 0
301 LetE2d= 500 500
14 J|Et2 = 500 500
OZadmetd dana=
500,000& 500
44 A2 15,852 14,152 1,700
= 7,926
& 3,963
i 3,963
301 LBtE2NS 15,852 14,152 1,700
= 7,926
& 3,963
i 3,963
01 AFRI2ZE4FS (R NEXTHR) 15,852 14,152 1,700
OogdAd SAAMSZ(Mell) HX
N 15,852,000& 15,852
= 7,926
& 3,963
i 3,963
FrEEs ¥ 0 614,468 583,806 30,662
Jl 91,631
& 27,490
i 495,347
AU AL ESKH 6,360 6,360 0
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SN 2XXD
H: Ots HAW AN sS4
gel: 3AEEs 2 30 CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
201 LB 5,200 5,200
01 AlR2:2|H] 2,200 2,200
OHAHEZE HE 23 100,00021%12% 1,200
OBAEAIR AlODIRAS| A
100,000 %1021 1,000
03 BAF2 X 3,000 3,000 0
OFAH2A AL 2 3,000,000 3,000
301 LBtEEa 1,160 1,160
11 SAAHIXI 22 1,160 1,160 0
O0iezAd s FFABA
50,0002 %401 200
OBAEDI AL ZABY
8,0002%4001%33] 960
HAE 2S5 0PHHIOl 29 195,642 183,262 12,380
7| 91,631
[ 27,490
= 76,521
307 Q1201 195,642 183,262 12,380
7| 91,631
[ 27,490
= 76,521
05 DIZHQIEIZ 195,642 183,262 12,380
OQI24H| 76,185,000 76,185
7| 36,854
[ 11,056
= 28,275
OZAt=gt 33,808,000 33,808
7| 15,666
[ 4,700
= 13,442
ONE&s (I 9,527,000 9,527
7| 3,525
[ 1,058
= 4,944
OZA| 39,426,000 39,426
7| 18,475
[ 5,543
= 15,408
OLBH2 S| (A, HIIXIE, Z R 2)
36,696,0002! 36,69
7| 17,111
[ 5,133
= 14,452
HAESSOPLE0l 2K (XHA) 29,600 29,600 0
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2A:

S XX

HHM: Ols HAH AW 24
gel: 3AEEs 2 30 CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
307 ©I2H0IH 29,600 29,600
05 QIZIRIELS 29,600 29,600
OXPDHgzZZ2 )3 23|
2,000,000 2,000
OunE2 x| 100,000 *301% 12 3,600
O IR X 2| 1,100,000« 122 13,200
OZESIHI 400,0002%301+235| 2,400
OALBXt AUEE s 700,000 %122 8,400
ABEZ HAESHEDY 29 305,936 251,354 54,582
101 QI24H 144,760 107,345 37,415
03 SRX(RIHL) 2224 83,405 80,246 3,159
OBAEXISAF QI24H] 83,405
0122 (23N EAH
2,541, 11024x201x 128 60,987
0XF&d=+E 170,0002 %201 122 4,080
(p]===s= 140, 0002 %201+ 122 3,360
OAIRIQI 224
16,7302 %201x20 Al 2+ 12 8,031
0FE4LY 2,541, 11024%201523|«60% 6,099
0 JI24| 2,541, 1102%102+1/30 848
04 JIZHHI2 RIS 61,355 27,099 34,256
OHAEXISAF I24H] 61,355
0122 (23X AL
2,054,00024 %201+ 10 41,080
SR =Re] 140,00024%201% 102 2,800
0 ES I 200,000 %201x23] 800
0EU2R4L
15, 74024 %201x20 A 2H+ 10 6,296
0=01013 49,576,0002 %4 . 5% 2,231
0HLEE 49,576,0002%3.545% 1,798
0IRYEE 1,758,0002%12.81% 226
OnE=3=k] 49,576,000 *1.75% 868
OMHHEE 49,576,000 * 1% 4%
OXIZ AFE &I 200,000 *201x 10 4,000
0nSH| 100,0002*201%435] 800
201 LBt 113,922 105,212 8,710
01 AFR2t2IHI 20,9% 20,746 250
O=gat A28 ¢ 60,000 %12 720
O=gat 4228 1 50,000 %122 600
OXMADE U AIRRE ¢
200,000+ 122 2,400
Ottt EEE2Z HE 2,000,000 2,000
OF2 AR 2/
300,000 128 3,600
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fA: SXX2 1L

HIM: Ot HAUW AW 24
chel: HAdssE 2 =20l (Chol: ®i2)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OSHHIAAE KXY
230,000 128 2,760
O&F=D| Xtz 29,930 *5H* 122 1,796
OFI|eHA H2IH| 280,0002 % 12 3,360
OALIOIMBIZ|(HEH 2
180,000 % 12 2,160
OFLESP A A5
200,0002453] 1,000
OLcHHESa HUI0IE 50,000 %122 600
02 222 50,530 49,230 1,300
OFII2 2,500,000 %122 30,000
OABlI4ER2 60,0002 * 122 720
OSALB(AEHY, TV, HIASSIER])
60,0004 128 720
OsZJ| |XZeltl 160, 0002 % 12 1,920
OS2I HEAAL 242
130, 000413 130
OALOEE 5| 100,000 100
os¢3 A 500,00024*23] 1.000
OAAEIN0A X222
580,000 * 12 6,960
OAIAEINOH HARA
140, 0002 *47CH 6,580
OAlEZ Szl 200,000 * 122 2,400
03 BAF2 | 42,39% 35,236 7,160
OFAESZ 0=ZT2 W 29
1,000,0002 %33 3,000
OFAdEs T2 29
23,900,000 23,900
OXOPIs AZ2TRI)Y 2
660,000 660
OXAESHZ HAESH X
5,676,0002! 5,676
OFAESHD =012 Y35 X
2,000,000 2,000
OFAESHBER| ESXH
7,160,0002! 7,160
202 Ot 5,200 5,200
01 2LH0IH 5,200 5,200 0
OZ2= =F0H| 200,0002%201 122 4,800
O32& x| 100,000 %43 400
301 LetEEa 5,548 4,288 1,260
11 BAFAHIXI 22 5,548 4,283 1,260
OFAUTZ O3 (|
26,80024x2001+83] 4,283
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